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The Motion Problem of Two — body Connected with a Line

Zeng Guiping Fang Baolong

(Mathematics and Physics Department, Hefei University, Hefei» Anhui 230601)

Abstract: Two methods are used to solve the motion problem of two — body which an object is placed on a

horizontal plane and another object connected with a line is sagged. It can be determined that the sagging object

will vibrate up and down after hanging an appropriate object, and the object placed on the horizontal plane will

rotate non — circularly around the circular hole.
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